0000000000 II0000 (2024000)

1.01 000 RLOOOOODD 30000000000000000000000000000
00000000@B)0 T -0 0000 (1)0000000000000000000R =200
L=05H0000
(1) e,(t) = 10u(t) [V] (DOOOOOOOOO)

(2) e,(t) = 10u(t)sin2¢t [V] (0000000000 OO)
(3) es(t) = 10u(t)e~"/T [V] (DDDOOOOOOOOO)

2.020000000¢t=000000 SOOOOOOt>00000D00ODOOODOOOODODO
Ry=5QUL=05HO0R=2Q0C=025FO0FE=10V0000(Q0O00O0O0O0O)

YY)
R
E—
Ro C
T
02

3.030000000¢t=000000 SOO0OOOO0O0ODOOOOOOODOOOOOOOOOOD
OO0O0O0R,=3Q0R, =1Q0R,=200C, =Cy,=1FO0FE=30V0O0O00

C,
W AWy
| @ R?@:CZ
O3

4. 030000000 O0O0O0OO0O0ObOOOObOOOO0OOOOOOO040000D00DODODOD
OO00R =3QUR, =1Q0R,=20Q0C; =C,=1F0I=10A000000 0000000
oboboooo4000000000D000DOCO0O0O0DOOODOOOOOOOOOOO0ODO0O0O0 30
oooooooo

0O oe



